EARAROBEEIERT — 2 N— IBISH —F

201858H24H (&) 6ElIIE5H

AW EEE 2 $5R3m®m232HEL29 9K

‘(36«;} 8 ‘ (EmmEl  — | 4 (@) 15000 B

[A&E£] 17 :1,300,000  ~ 23 :494,000 37 :325,000 1§

4 7% :195,000 F 5 3& : 156,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S i t 3 | EBKRHE 1:37.4 2-2-1-1 | 40.8| — 2 401 | #ERARIZ (11E)
1 g|H-—H¥—-TI— 54.0 fa o) | @ 75 raum
LY YRT 4TS BidL— hN=—~RZ R VDAY ¢ ]
N 9 B :37. 44— . = g (1)
21810 NTATLTY—X 4 3 i (12317/29) 4-4-4-3 | 40.7 6 (4_0; gaa,ﬁéaﬁ
R:RY—bLYv—=— B:vIHE2 HET7— L
N o Mz . - _ hnEEss— (J11E)
3l5l5| ILTFALT it 3 vk E 1.(338).6 1-1-1-2 | 42.1 3 (ﬂ) i
L:bE—XTA—F— B:32-XYVyY PN
S N LB : —6-5- — AHEBEE (1)
4 NPPE DY EEOA i 3 el 1.(318).8 6-6-5-5 | 41.2 7 :?g) s
R:G7—3IUT7> B:v<wHHh> b — EOE
. o3 | EEER 1:39.1 3-3-3-4 |42.3| — 1 435 | NIBIE— (f3fE)
507/7|7~Y=7 0 (1 1/2) (1) | EEHER
LT RIA Y L—> B:VLAIR—) BRT7—LI
; Quys i 3 | EEF 1:39.5 7-6-7-6 | 41.7| — 5 499 | EAFE (1)
] 4| - RES 56.0 @ “-2) BEAT
LA LINT Ry 72 B:TUYE O— BH# it
T 5 43 | WOER 1:39.6 8-8-7-8 |41.5| — 8 461 | MIEA (#048)
71819 T T4H%—-Ta 56.0 (1/2) 7 | B KB
k=gt —h— B:7Lax 2 hANY =T 4 =)L KT 7 — LK
S e 4 3 | EHA 1:39.7 5-4-6-6 | 42.3| — 4 420 | EH:Zb5— (J11I)
811 e G P 54.0 (7€) +1) iEfth
R:T7RIAYL—> B:XAM1— SR
o AECE 240, -9-9- . — wEHK (IE)
9 o | E—TLrOx L] A 1(4185 9-9-9-9 |41.8 10 ;1:331) nia
R:FH¥<71282 B:oMN=-2yT TEARKE
— 0 4 3 | ATHER 1:42.5 10-10-10-10| 42.6 | — 9 522 | EAE (/i)
10/ 7| 8 o iaF 56.0 (%1 4) +3) FaFRES
L:T—TT74=X B:RK-—FFTILY7F LS
® 1—F—@EBIERL
1T=7r= 5,3,7,10,1,6,4,9,2,8
2a=5F= 5,3,7,(1,10), (4,6) ,9,2,8
== (3,5),7,10,6,1, (4,9),2,8
40—F— 3,5,10,7,6,(1,4),9,2,8
[ N5
B 3 330H 714K 3-10 600 e E 3-8 1,770M JEE 3-5-10 2,760
B B 3 150M &= 4304 e B 3-8 2,200 JEE 3-10-5 15,540M
10 200 5-10 820M B & 3-10 2,230M
5 1609 B H 3-10 3,290

ABICOVWTRDTEEERROODE. TR LIV,




